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Many years ago, thousands of Irish families lefi their ... land and went to America in search of a better life. \

1) foreign 2) oral 3) native 4} fluent

Today was Sunday. I never get up early on Sundays. Last Sunday, I got up very late. I looked out the window. It was dark
outside. “What a day!”, I thought. “It’s raining again”. Just then the telephone rang. It was my aunt Lucy. “I have just arrived
by train”, she said, “I am coming to see you.” “But ['m still having breakfast.”, I said. “What are you doing?”, she asked.

“I’'m having breakfast.”, T repeated. “Oh, my God!”, she said. “Do you always get up so late, Tom? It’s one o’clock!” Y
The writer ... gets up late on Sundays.
1) always 2) somelimes J3) never 4} usually
It was dark outside because ... .
Yl
1) It was night 2) it was sunny 3) it was cold 4) it was cloudy
Which sentence is TRUE about Tom?
1) He knew who was coming to sce him. 2) He was very hungry. ¥
3) He ate his breakfast in the moming, 4) His aunt lived in his city.
The best title for this passage is ... .
1) Sunny or Rainy 2) Breakfast or Lunch o
3) This City or That City 4) Early or Late
About a hundred years ago, Zamenhof invented a new language called Esperanto to improve understanding between people of
different countries. He showed Esperanto to his friends to find out what_they, thought about it. Later in the same year, he went
to study at a university in Moscow. He wanted to improve Esperanto. Zamenhof’s friends then worked hard to spread the new
language. They tried to persuade schools throughout the world to teach it. However, only a few people today speak Esperanto
because more and more people use English as a foreign language.
The failing of Espemato consisted of various reasons: its grammar, background, and langugae leamers’ reaction. Zamenhof’s
original goal was to climinate the gap among people by creating an international language. Hopefully, people will remember p
that Esperanto’s real mission is to facilitate exchanges between languages and cultures. The world is a richer place when it
speaks with many voices and it will be a more peaceful place if all can be heard.
The passage primarily intends to say that Zamenhof and his friends worked hard to ... .
1) make Esperanto an international language
2) speak a new language instead of English
3) encourage people to teach Esperanto
4) understand people who speak Esperanto
The underlined word “they” in the passage refersto ... .
\4
1) Zamenhof’s friends 2) countries 3) people 4) teachers
Which of the following is TRUE, according to the passage?
1) Egperanto was invented by a Russian about a century ago. A

2) Zamenhof invented Esperanto with the help of some friends.
3) Many people all over the world welcomed the new language.
4) Esperanio could not take the place of English at all.
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